HI3O0R B F 4B & K2

(L) FHEFJ|EINBLEERE [E5T)
_ =31/ TER=30F & SEMDWEF29FE
T - —
AH 2| 2 e =
Fy | @ W HFLE mge | Fa | mme | sxme
YT (F) (a) (H) (M) (F) (kg) (M)
hsgrr | 2483|  82,757.5| 3,166,700, 000  40,524,938) — — —
179 5.504. 1 929. 360, 000 3. 382. 960 23| 40,280 7,116,600
_ 649|  12,825.7 384, 700, 000 8,356,535] — — —
M7 NI AR 18 92275 6, 920, 000 206, 045 2 1,143 302, 800
- 999 5, 244. 9 191, 140, 000 3,498,217 — — —
H 130 2. 607. 2 107, 580, 000 1,724, 180 19| 22,348 4,700, 400
~ = 3,354| 100,828.1| 3,742,540,000| 52,379,600 — — —
=L 327 8, 428. 8 343, 860, 000 5,313, 185 44| 63,771 12,119,800
% — — — — 29
= 38 46,987 12, 289, 500
SIRIEELE | 1025. 7% 1196. 2% 1088. 4% 985.8%] 115.8% 135. 7% 98. 6%
(D)~ #AERAGERER [525]
_ =31/ TER=30F & SERDEEF29FE
I = =
HE 2| 2 o =
=] §£ m & HEEEE R =] §£ IR = HEE
X4 (F) (a) (M) (H) (F) (kg) (H)
g | 1466| 48,8002 2,011,070,000| 22,363,172 — — —
125 3, 853. 3 170, 530, 000 2, 104, 850 21| 39,013 6,891,400
) 202 3,379. 1 138, 190, 000 1,908,769 — — —
j’ ) ) b b b
M7 TR 2 95. 8 990, 000 21, 120 | 473 135, 300
e 96 1,941.9 86, 800, 000 1,579,845| — — —
2 98 2, 056. 4 90, 740, 000 1, 306, 890 13| 16,378] 4,217,700
- = 1,764|  54,125.2| 2,236,060,000] 25 851,786] — — —
= L 295 5,935. 5 262, 260, 000 3, 432, 860 35|  55,864| 11,244, 400
29
% _ _ _ _
5% 20|  37.463| 10,584, 800
SR LE 784. 0% 911. 9% 852. 6% 753. 1% 120. 7% 149. 1% 106. 2%




HI3O0R B F 4B & K2

(T)—b FMHEFEINLEERE [£1)
_ LER=31FE/ THR=30FE SERMDBEIF29FE
T - —
AH 2| 2 e =
F & m & HEEE IR F & | RIRE HEE
YT (F) (a) (H) (H) (F) (kg) (M)
_ 822|  29,841.5| 1,067, 370,000 13,603,323 — — —
PR 45 1.653. 1 56. 740, 000 1,101, 355 1 466 78, 000
_ 204 5, 033. 4 146, 340, 000 1,655 882 — — —
j b . b b b b

M7 NI RZ 8 90. 4 3. 670, 000 46, 320 1 670 167, 500
- 73 9.411. 4 86, 060, 000 949, 415] — — —

AL AR SRR 13 965. 9 10, 850, 000 126, 300 1 1,197 214, 500
~ = 1,00| 37,286.3 1,299,770, 000 16,208,620 — — —
=L 55 2, 009. 4 71, 260, 000 1,273, 975 3 2,333 460, 000
% — — — 29
2 1 2,130 356, 400

SHIELE | 1665. 2% 1855. 6% 1824. 0% 1272. 3%| 300. 0% 109. 5% 129. 1%

(L) —c FMHEFRINLEERE [T711])
_ L EE=314 /T =304 SEBDBE (F20FE
I = =
HE 2| 2 o =
=] §£ m & HEEEE R =] §£ IR = HEE
X4 (F) (a) (M) (A) (F) (kg) (H)
_ 195 4,111.8 88, 260, 000 4,558, 443] — — —
PR 9 87.7 2, 090, 000 176, 755 | 801 147, 200
) 243 4,413, 2 100, 170, 000 4,791,884] — — —
j’ ) ) b b b

M7 TR 8 111.3 2. 260, 000 138, 605 0 0 0
P 17 215. 0 4, 390, 000 272,653] — — —

AL =R P 12 177.0 4, 500, 000 237, 350 | 349 48, 300
- = 455 8, 740. 0 192, 820, 000 9,622,980 — — —
= L 29 376. 0 8, 850, 000 552, 710 2 1,150 195, 500

29
% _ _ _ _
5% 8 7,394 1,348, 300

SHHET4EL | 1569. 0% 2324, 5% 2178. 8% 1741.1%)  25. 0% 15. 6% 14. 5%




HI3O0R B F 4B & K2

(L) —d FMHEFREINLEERE [VAZ)
_ =31/ TER=30F & SEMDWEF29FE
RH 2| 2 e =
F # m & b ] ks F # | BI=E HES
X% (F) (a) (M) (M) (F) (kg) (M)
- 0 0.0 0 of — — —
PR 0 0.0 0 0 0 0 0
P 36 676. 6 13, 890, 000 696,304 — — —
AL =R P 7 107.9 1, 490, 000 53, 640 4 4, 424 219, 900
A = 36 676. 6 13, 890, 000 696,304 — — —
= A 7 107.9 1, 490, 000 53, 640 4 4, 424 219, 900
= _ _ - 129
5% 0 0 0
XA 514. 3% 627. 1% 932. 2% 1298. 1% - - -




